Bellwork  Alg 2A  Thursday, January 19, 2017
1. Solve for G and state restrictions on the variables, if any.
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2. Solve for C and state restrictions on the variables, if any.

AB+ MC = G(H-C) ' C = Restrictions:

3. Write the equation of this graph.
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4. State ALL the subset(s) of the Real Numbers wo which each belongs.
a) 168- b) — /44T c) V2 d) —2.378

5. Evaluate eachfor: W=8 X=-32 Z=-4 Y=k
a) X2—|V—W|- WXZ b) —Z+ WY? - |X]



Bellwork  Alg2A  Thursday, January 19, 2017 {/l’”%'vt’f’é

1. Solve for G and state restrictions on the variables, if any.
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2. Solve for C and state restrictions on the variables, if any.
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3. Write the equation of this graph.
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4. State ALL the subset(s) of the Real Numbers wo which each belongs.
a) % b) — /44T c) V2 d) —2.378
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5. Evaluate eachfor: W=8 X=-32 Z=-4 V=0
a) X2-|Y-W|-WXZ b) —=Z+ WY? - X
| = =f=4 +8bz—/—52
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